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Name No.:

PRAGATHI EDUCATIONAL INSTITUTIONS
DISTURBENCE TEST       (29.04.2015)        (SA-MATHS )      AVANIGADDA  Ph : 08671-272474


   




   
  


   


 
 

 UNFAO  


   
  


 
 


  


   

BRICS 
   




   





 



 


 


 


   














 
 










 


   




GMATC 


  
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
 
 


   


 
 


  




  


ZPD  
MKO 




   



   

                


   









 




   


 
 

        


   

        


   



   

         










   


 
  


 
 


   


   





   


  


   


   


  


   


   
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
   

 
 

 
 


   

      






   


   


  


   


   

 
   


   





 
 


 
 


    


   


    


   


   

71. Choose the polite form invitation?
1. Why don’t you come to my party ?
2. Please come to my party?
3. How about coming to my party ?
4. Could you please come to my party?

72. Choose the appropriate form of polite response to a
telephone call

1. who is it ? 2. who is on the line
3. May I know who is calling   4. who are you?

73. My elder sister .......... a beautiful dress on her
birthday

Choose the correct Idiom
1. puts on 2. puts off 3. puts in 4. puts up

74. My room is cosy
Here the underlined word means
1. discomfortable 2. comfortable
3. incomfortable 4. uncomfortable

75. I saw a ........ tiger in the zoo
Identify the correct phrase to complete the sentence
1. fat black big 2. big black flat
3. black, fat, big 4. big fat black

76. This is exactly what I wanted
The underlined word is
1. determiner 2. relative
3. demonstrative 4. interrogative

77. Go to market, ..........?(Identify the question tag)
1. do you 2. don’t 3. can you  4. won’t you

78. Krishna ..........?
Ravi : until the end of the week.
Choose the correct question form to complete the

conversation.
1. How long have you been here for ?
2. How long are you here ?
3. How long are you here for ? 4. None

79-82 The following passage has four blanks.
Choose the suitable word for each blank to make

the passage meaningful
When we think (79) the game of cricket, the players

(80) come to our mind (81) usually famous batsmen
(82) bowlers

79. 1. of 2. in
3. for 4. on

80. 1. whom 2. which
3. who 4. whose

81. 1. is 2. are
3. was 4. were

82. 1. neither 2. nor
3. so 4. or
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83. Indentify the error of the sentence
I have (a) /ordered (b) / for (c) /three cups of tea (d)
1. a 2. b 3. c 4. d

84. If only I were young again!
Change the above sentence into Assertive sentence.
1. I wish I were young again.
2. Were I young again?
3. I hope I was young again
4. I wish Iam young again

85. It is time to shut up the shop
Choose the suitable passive voice
1. Time is shut up for the shop
2. It is time for the shop to be shut up
3. For the shopping being shut up by this time
4. No passive form

86. Iron is more useful than any other metal (Choose
superlative)

1. Iron is one of the must useful in all metals
2. Iron is the must useful of all metals
3. Iron is the most useful of all metals
4. Iron is the least useful of all metals

87. Make haste. You will be late.
Choose compound sentence
1. If you make haste, you will be late
2. Make haste nor you will be late
3. Make haste and so you will be late
4. Make haste or you will be late

88. Rama said to Arjun “Go away”
Identify the reporting verb for “.......to go away”
1. Rama ordered Arjuna
2. Rama told Arjuna
3. Rama suggested Arjuna
4. Rama urged Arjuna

89. “Should you be so unfortunate as to suppose that
you are a genius, and that things will come to you, it
would be well to undeceive yourself as soon as it is
possible”

How many clauses are given in the sentence?
1. 6 2. 5 3. 7 4. 4

90. Identify the suitable opposite for “obtuse”
1. donse 2. thick 3. sharp 4. blunt

91-94 Read the passage carefully
Snakes are wonderful creatures. They have no legs

at all. Then how do they move about? They can crawl
on their bellies They have no ears either. Don’t they
listen to sound? you’ve seen a cobra raise the front of
its body, Spreads its hood and hiss loudly swaying its
body to the rhythm of the music of the charmer’s
pipe, haven’t you? How then, can it dance to the
charmer’s time? It is simple. The cobra does not listen
to the music. But it merely looks at the charmer’s pipe
and sways its body to the swinging of the pipe.

91. The passage is about
1. The nature of snakes
2. The charmer’s pipe
3. The music of charmer
4. Snakes and their dance

92. Find the correct statement
1. The charmer has to blow the pipe to make the

snake dance
2. The charmer has to move the pipe to make the

snake dance
3. The charmer has to use a long pipe to make the

snake dance
4. All

93. If the charmer stands still and blow the pipe.
1. The snake will not dance
2. The snake will listen to him
3. The snake will sway its body to the rhythm of the

music
4. The snake will enjoy the tune

94. The snkaes are wonderful creature because
1. They have no ears but still dance by the move-

ment of the charmer’s pipe
2. They have no legs but still walk slowly on the

ground
3. They enjoy by listening to the music
4. It says its body so as to bite the charmer

95. When reading, to decode means to
1. An action used in ELT 2. Solving a puzzle
3. To analyse and understand
4. To synthesis and understand

96. Which is a lexical word ?
1. love 2. is 3. the 4. might

97. Who gave the tri-lingual formula ?
1. Mudaliar commission
2. Basic education commission
3. Kothari commission
4. Radha krishnan commission

98. In the word ‘congratulate’ the stress is on the
1. first syllable 2. second syllable
3. third syllable 4. fourth syllable

99. Criterion reference evaluation means the students
progress........

1. with reference to the standard set by the commu-
nity

2. with reference to the progress made by their peer
groups

3. with reference to the standard set by their
teacher

4. with reference to their own selves
100. Identify the suitable tone for

Are you leaving for Delhi to day?
1. Rising 2. Falling
3. Falling-Rising 4. Rising-Falling




 
 




   
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
>>
>>
>> 
> >

    Kw=[H+]  x [OH-]  KW 


H+  OH- 
 

I
A-m A-m2 A/m2 A/m

       


 
 




   

 




H2SO4 K2Cr2O7 NH4Cl 
KMnO4, HgO, KNO3, KClO3, H2O2 

H2O2 


MnO2 K2Cr2O7

CuSO4 HNO3 
- CO2 

H2S 


Cl2 N2 NH3 SO2


  CO2 

NaNO2, NH4Cl 


 
 


   


 
 




  







   


   




 
 

      


   
        


   







 

NaCl


   


   
      


   

      





   



 
 
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


 
 

 






 
 

 4
52

,3
157

 yxyx (x, y)=

   
x2-5x+a  x2-2x+b     



 3
)(3 bax   3

)(3 bax   3
)(3 bax   3

)(3 bax 

       


 
 

 x2-(a-2)x-a-1=0      
a=

   
(1+x)n (r-1)r (r+1)
n=

   
(a2x2-2ax+1)51 ‘O’ a=

   
           


3x2+3y2+20x=0 3x2+3y2-20x=0
3x2+3y2+20y=0 3x2+3y2-20y=0

 x2+y2=R2     x2+y2+r2 
     
R=

3r/2 2r 3r 4r/3
x2+y2+4x+2y-4=0, x2+y2-4x-2y+4=0 


   

y2=4ax b, c 

 cb
bc
  cb

bc


4  cb
bc


2  cb
bc


3




 
 

a, b  nn

nn

ba
ba

  11

n 


   

m ‘n’ ‘n’ ‘m’ 


m+n m+n-1 m+n+1 m-n+1


 
 

 SAG SR AGSA2-AR2=
SG+GR SG2+GR2 GR2-SG2 SG2-GR2

 ABC AD, BE, CF G 


BE+CF < 3/2 BC BE-CF < 3/2 BC
BE+CF > 3/2 BC BE-CF > 3/2 BC

C 
   

R=3 cm, r=2 cm 
d=5 cm.


   
n 

n(3n2+6n+1) 3n(n2+2n+1)
3n(n2+4n-1) 3n(n2+4n+1)

sinA + sin B = 3  (cosB-cosA) sin3A+sin3B
   

 xx
xx
2cos52sin4

cos3sin5

 

 8/  4/    2

 4)(3   CotTan  '' 
 3/2  6/  3/  12/

A, B,
C   3,2, AB/BC=

 


2sin
3sin  2sin1  2cos21  2cos1

A, B AB=0 
A 
B 
A, B 
A, B 

A2=2A-IAn=
nA-(n+1)I nA-(n-1)I nA-(n2-1)I 

A2x3, B5x4, C4x2 (CA)TxBT 
   
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
 



A, B A, C A, D B, D
A, B B 

A, B 
   


         


   


 
 




   



   

 


 20

cos1




Lt

   
 FqpTqp  ,)(~ (p, q)=

(F, F) (T, F) (T, T) 





   







 0   }{  }{  }0{O


212<38 510>315 78<96 34<43

 RRRf : f(x, y)=x+y-xy f(2, f(2, 3))=
   


 





 

  


   





   





 
 

        


       

(acost, a sint), (bsint, -bcost) 


(3x-1)2+(3y)2=a2+b2 (3x-1)2+(3y)2=a2-b2

(3x+1)2+(3y)2=a2+b2 (3x+1)2+(3y)2=a2-b2

 2x2+4xy+5y2-4x-22y+7=0    


   
p,q,r(q-r)x+(r-p)y+(p-q)=0 (q3-r3)x+(r3-

p3)y+(p3-q3)=0 
p=q=r p+q=r p+q+r=0 p3+q3+r3=0

 x2+2xy+y2-8ax-8ay-9a2=0    
 2 a=

   
xy-yz-

L,M LM=
 41  20  29  53

 



222

222

)0004.0()03.0()05.0(
)04.0()3.0()5.0(

   
(x+1)(x+2)(x+3)(x+4) 


   










   
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
   

m n
(m-1) (m, n)=

   
ARTICLE 

A T 
   

3x=7








      


         


      









  





























 
 



 



       


   






















 
 

All the Best



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 2 51 1 101 4 151 4
2 3 52 4 102 4 152 2
3 1 53 3 103 4 153 3
4 4 54 2 104 3 154 4
5 3 55 3 105 4 155 2
6 3 56 4 106 3 156 1
7 1 57 2 107 2 157 2
8 4 58 4 108 4 158 1
9 3 59 4 109 1 159 4

10 2 60 2 110 4 160 3
11 4 61 1 111 2 161 2
12 3 62 1 112 1 162 4
13 4 63 4 113 4 163 3
14 1 64 4 114 2 164 1
15 2 65 3 115 2 165 2
16 1 66 3 116 2 166 3
17 1 67 4 117 1 167 3
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17 1 67 4 117 1 167 3
18 3 68 2 118 1 168 1
19 4 69 2 119 2 169 4
20 3 70 1 120 1 170 2
21 2 71 4 121 1 171 3
22 4 72 3 122 2 172 3
23 1 73 1 123 1 173 1
24 2 74 2 124 2 174 4
25 2 75 4 125 1 175 1
26 4 76 2 126 1 176 3
27 1 77 4 127 1 177 3
28 3 78 3 128 2 178 4
29 3 79 1 129 1 179 3
30 1 80 3 130 1 180 4
31 1 81 2 131 2 181 2
32 4 82 4 132 4 182 3
33 2 83 3 133 2 183 4
34 1 84 1 134 1 184 1
35 3 85 2 135 3 185 2
36 4 86 3 136 1 186 3
37 2 87 4 137 4 187 1
38 3 88 1 138 2 188 3
39 4 89 2 139 4 189 4
40 1 90 3 140 3 190 240 1 90 3 140 3 190 2
41 4 91 4 141 1 191 1
42 1 92 1 142 3 192 2
43 1 93 3 143 2 193 4
44 3 94 1 144 3 194 3
45 4 95 3 145 4 195 2
46 2 96 1 146 3 196 2
47 4 97 4 147 2 197 4
48 4 98 2 148 4 198 1
49 4 99 3 149 1 199 2
50 3 100 1 150 3 200 3


